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Q1. Consider the following statements regarding the Vienna Convention on Diplomatic Relations:

1. It codifies the concept of diplomatic immunity.
2. The receiving state is not obliged to provide protection to the premises of the mission.
3. Diplomatic missions can employ their own security.

Which of the statements given above is/are Not correct?

a) 1 and 3 only

b) 2 only
c)1,2and3

d) None of the above

Q2. Consider the following statements:

1. HDI is a composite index of health, education and standard of living.
2. It was introduced in 1990 by UNDP to evaluate and compare the level of human development in
different regions around the world.

3. Recently, India has been ranked 132 out of 191 countries.
Which of the statements given above is/are correct?

a) 1 and 2 only
b) 2 and 3 only
c) 1 and 3 only
d) All of the above
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Q3. Which of the following statements is correct regarding the Old Pension Scheme (OPS) and the

New Pension Scheme (NPS)?
1. The old pension scheme provides return certainty while the new pension scheme offers market-linked

returns without any guarantee.
2. The corpus on maturity under the OPS is entirely tax-free, while only 60% of the corpus under the NPS is
tax-free.

ghEﬁﬁﬁ ’db%@ﬂﬁ’ﬁ’&ﬁt“éiﬂﬂl&%e?%‘teﬁ&%ﬁé for receiving a pension under the old and new pension

gsqegﬂgszagtmpretirement.
b) 2 and 3 only

¢) 1 and 3 only

d)1,2and 3

Q4. Consider the following statements regarding the production and marketing of millets in India?

1. Millets were sidelined in favour of high yielding varieties of rice and wheat during the Green Revolution
of the 1960s.
2. Millets are the most remunerative crop in India and have always been in high demand.

3. Hybrid varieties of millets have dramatically increased the yield of millets in India.
Which of the statement/s given above is/are incorrect?

a) 1 and 3 only
b) 2 and 3 only
¢)1and 2 only
d)1,2,and 3
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